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Lx2+10x+24=0
0l L4y -17y+18=0

() 3fE x <y

(b) T x>y

(c) i x < y

(d) e x=y

() TG x = y T BIS G~ RTS8t fbar oI IPpar
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Lx2=729
qz. 1Ly =V729

()3 x<y

(b) TS x>y

(0T x=y

(@) x=2y

(e) TfE x =y ATPIS Tra WO 78T fopan <1 Tl
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. x*-1=0
Q3_]].y2+4y+320

(@) TE x<y
(b) 3 x>y
(@3 x<y
(d) TG x=2y
() TG x =y AT P13 Tra R 18] fopan o1 Tl

L1Difficulty 2



QTagsQuadratic Inequalities
QCreatorDeepak Rohilla

Lx2-7x+12=0
qs Ly2-12y+32=0

() 3fE x<y

(b) S x>y

(©dfE x<y

(AT x2y

(e) TS x =y ATHIS T RO 78] fooan ST Tt
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1.3x2-20x-32=0
o5, 11272 -3y -20=0

() 3fE x <y

(b) T x>y

(c) i x < y

(d) e x=y

() TG x =y AT P13 Tra R 18] fopdT oI Tabel!
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. 3x2-11x+10=0
2_ — 2 =
0, I 22-3y—2=0

(@)xzy

(b)x<y

(A x<y

(d)x>y

(e)x=ydIx B?I?y%aﬁawaarrﬁaﬁmww%
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. x2—9x+20=0
7. I 2y~ 13y +18=0

()x2y
() x<y



(A x<y

(d) x>y

(e) x =y T x 3R y & o7 Yy 1o &t fooar 51 s
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5 3
PRCaiat b +6“” = x°

(@a)xzy

(b)x<y

(A x<y

(d) x>y

(e) x =y TTx 3R y & 1T a9 TS g1 fpar o Ibal 8
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L5x —18x+9 =0
Q0. IL3y>+5y—2=0

(@)xzy

(b)x<y

(c)x<y

(d)x>y

(e) x =y T x 3R y & o7 Yaie R1fad 78t fpar ST g 8
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Lx?—19x+84 =0
q10. 112 — 25y + 156 = 0

(a)xzy

(b)x<y

(c)x<y

(d) x>y

(e)x=ydIx B?I?y%aﬁawaarrﬁaﬁmww%
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Lx?—x—-6=0
Q11. II. 2y2+13y+21 =0

() 3fE x<y

(b) S x>y

(©dfe x<y

(@) x2y

(e) TS x =y ATHIS THa~ RO 78] fooan ST Tt
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Lx*=4
lelll.yz+6y+9={]

()3 x<y

(b) S x>y

(0 3fE x=y

(@) x=2y

(e) TfE x =y ATPIS Tra RO 78} fooan ST Tt
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.2x+3y=4
Q13. II. 3x + 2y = 11

()3 x<y

() x>y

(c) i x < y

(d) Tl x=y

() TG x =y ATHIS a4 R 18] fopdl oI Tobel!
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Lx2—7x+12=0
2 —
Q14.|I.jf +4y+3=0

@) TM[E x<y
(b) T x>y
(©)TE x=<y
(d) e x=y



(e) TS x =y ATHIS Tra R 78] fooan <1 Tt
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.vV361x +V16=0

q1s, 1L V4#41y +4 =0

(@) M x<y

(b) 3T x>y

(c)tl'% X<y

(d) e x=y

() TG x =y AT P13 THa R 18] fop T oI TebelT
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Solutions

S1. Ans.(a)
X+bx+4x+24=0
x(x+6)+4(x+6)=0
x+4)(x+6)=0
x=—-4,-6
4y2 - By -9y +18=0
4y (y-2)-9(y-2)=0
(4y-9)(v-2)=0

=29
y=4

Sol. *=¥

S2. Ans.(c)
¥2-729=0
(x-27)(x+27)=0
x=27,-27
y=+729 = 27

<
Sol. =Y

S3. Ans.(d)



Sol.

x-1)(x+1)=0
x=1,-1
yi+y+3y+3=0
viv+1)+3(v+1)=0
(v+3)(v+1)=0
y=-1,-3

Xx=y

S4. Ans.(c)

Sol.

X-4x-3x+12=0
xx-4)-3(x-4)=0
(xk-3)(x-4)=0
x=34
yvi-4y-By+32=0
y(y-4)-8(y-4)=0
y-8)y-4)=0
v=4,8

X =y

S5. Ans.(e)

Sol.

3x2-24x+4x-32=0
3x(x-8)+4(x-8)=0
(3x+4)(x-8)=0

4
x= —-,8

2
2y2-8y+5y-20=0
2y(v-4)+5(v-4)=0
(Cy+5)(v-4)=0

5
}rz_El‘l'

Mo relation can be established

S6. Ans.(e)



.32 —11x+10=0
=3x> —6x—5x+10=0
= (x—2)(3x—-5)=0

)

=x=2z
3

IL2y? —3y—2=0
=2y’ —4y+y—2=0
=(y—2)2y+1)=0

5 1
=2y=2 ——
j"r 4 2
Sol. No relation

S7. Ans.(e)

Lx*—9x+20=0
= (x—4)(x—-5)=0
=x=4,5

IL2y? — 13y + 18 =0

=2y —4y—9y +18=10

=(y—2)2y—9)=0

5 9
=y=2—
J"r ’ 2
Sol. No relation
S8. Ans.(d)
5 1363
[.x* = = N
I 4y* = —= -+ 5y°
= 3 = 389
Yy =7
Sol.x 7Y

S9. Ans.(d)



Sol.

S10.

Sol.

S11.

Sol.

.5x* —18x+9 =0

= 5x? —15x—3x+9=0

= (x—3)(5x—3)=0
3

:‘XZE,E

I1.3y2 +5y—2=0

=3y +6y—y—2=0

= (y+2)(3y—1)=0

1
:‘}-’—EJ—Z
X>¥

Ans.(b)
Lx?—19x+84=0
=(x—12)(x—-7)=0
=x=12,7

ILy? —25y+ 156 =0
= (y—12)(y—13) =0
=y=12,13

y =X

Ans.(b)

Lx*—x—6=0
=x"—3x+2x—6=0
=x(x—3)+2(x—3)=0
=2(x+2)(x—3)=0
=x=-2,3

IL2y? +13y+21=0
=2y +7y+6y+21=0
=yv2v+7)+32v+7)=0
=2(y+3)2y+7)=0
::-}'=—3..—;—
e =

S12. Ans.(b)



Sol.

S13.

Sol.

S14.

Sol.

S15.

Sol.

Lx%=4

=x*—4=0
=2(x—2)(x+2)=0
=x=2,-2
IL.y*+6y+9=0

=y +3y+3y+9=0
=2>yv(v+3)+3(y+3)=0
=2(y+3)y+3)=0
=y=-3

LX =Y

Ans.(b)
L2x+3y =4
IL3x+ 2y =11

On (i) X 3 — (ii) x 2
x=5y=-2

SxX =Y

Ans.(b)
Lx*—7x+12=10
=>x?—4x—-3x+12=0
=x(x—4)—3(x—4)=0
=(x-3)(x—4)=0

=x =34
ILy:+4y+3=0

=y +3y+y+3=0
=yv(iyv+3)+1(y+3)=0
=2(y+1(yv+3)=0
=y=-1,=-3

X =Y

Ans.(a)
L+/361x +y16 =0
=19 +4=20
= x = _i
19

ILV44ly +4=0
=2ly+4=0

—_1
2¥="n
X =Y



